CS 131 Quiz 2   September 22, 2008
1. What will be output by the code fragment below when  x = 2  and  y = 5?

if (!(x < 2 && y < 6))

  cout << true;

else cout << “false”;
 true

 Explanation:      

        (x < 2) = false.  (y < 6) = true

          !(false && true) = !(false) = true

2. Fill in the blank in the following segment so that someone who is older than 12 and over 42 inches tall is allowed on the waterslide at Darien Lake.
cin >> age >> height;

if ((age > 12) && (height > 42))
  cout << “Waterslide!”;

else

  cout << “Sorry”;

3. Only one of the folllowing code segments will compile. Identify which and explain why the other will not.
Give the output of the code segment that does compile for hrs = 20, rate = 10.00
if (hrs <=40)

   pay = hrs*rate;

else

   cout << “bonus -- ”;
   pay= hrs*rate + 100;

cout << “Pay = $” << pay;
if (hrs >40)

   cout << “bonus -- ”;
   pay= hrs*rate + 100;

else

   pay= hrs*rate + 100;

cout << “Pay = $” << pay;

The one on the right has a dangling else and does not compile.

The one on the left compiles and produces

Pay = $300
Explanation: the statement  pay= hrs*rate + 100; is not inside the else and will always be executed.
